C:# Finden eines aquivalenten Ausdrucks mit negativen Zahlen Name:

L 6se jede Aufgabe. Antworten
1) Which expression(s) are equivalentto 7.7 2) Which expression(s) are equivalent to -7.6
+(+4.4)? + (+2.65)? 1
A.-7.7 + (-4.4) A. 7.6+ (2.65)
B.-7.7 + (+4.4) B. 7.6 - (+2.65) 2
C.7.7+(4.4) C.-7.6+ (-2.65)
D. 7.7 - (+4.4) D.-7.6 - (-2.65) ;
4.
5,
3 2, 4 i essi [
) Which expression(s) are equivalent to /. 10 ) Y_VPGIC;;SX pression(s) are equivalent to 4.7 6
) oY :
- (+79)? A.-4.7+(-6.7)
s 3 B.-4.7- (6.7) .
A.-710-(-79) C.47-(6.7)
2 3 D.4.7-(-6.7
B. /10 - (/6) ( ) 8.
2 3
C. 710+ (+79)
2 3
D. 710+ (7p)

5) Which expression(s) are equivalentto 6 + 6) Which expression(s) are equivalent to 8 -

(+2)? (-4)?
A.6-(-2) A.-8-(-4)
B.-6+(-2) B.-8- (+4)
C.6+ (-2 C.8+ (4)
D. -6+ (+2) D.8+(-4)

7 . . . 3 8 i ess i
) Which expression(s) are equivalent to /¢ 9 ) Xv(rl{Clh?;e;( pression(s) are equivalent to 2.9
2 17)"
+(74)? A.29- (-4.17)
3 3 B. 29+ (+4.17)
A.-74- (7)) C.2.9+ (-4.17)
3 3 -
B. _/9 ) (+/4) D.29-(+4.17)

C. 3/9+(+3/4)
3 3
D.-75- (/)
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